[1pakTuka
OnucaHne KOMOUHALUMOHHbIX
yCTPOWUCTB Ha VHDL



[Mlpumep 1. NpoBepka Ha YETHOCTb

library ieee;
use ieee.std logic 1l64.all;

entity parity check is
port (
a: in std logic vector (7 downto 0);
x: out std logic
) ;
end parity check;

architecture cond arch of parity check is
begin
x <= 'l' when (a(0) = '0') else
IOI;
end cond arch;
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[Tlpumep 2. [NpoBepKa Ha YETHOCTD (if)

architecture cond_arch of parity check is
begin

process(a)

begin

If (a(0) ='0') then
x<="'1"

else

x<="'0%

end if;

end process;

end cond_arch;

input

output
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[1pumep 3. lennmocTb Ha 4

architecture cond_arch of check 4 is
begin

process(a)

begin

If ((a(0) ='0") and (a(1) ='0')) then
x<="'1"

else

x<="'0%

end if;

end process;

end cond_arch;

input

output

x
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[Tpumep 4. [lenumocTb Ha 4 6e3 and

architecture cond_arch of check 4 is
begin

process(a)

begin

If (a(1 downto 0) = "00") then
x<="'1"

else

x<="'0%

end if;

end process;

end cond_arch;

input

output

00
01
10
11
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[1lpumep 5. [lekTop KOOoB
0101-11;1010-10; 11111-01; x-00

architecture cond_arch of parity_check is
begin

process(a)

begin

If (a(3 downto 0) = “0101” then
x<=“11";

elslf (a(3 downto 0) = “1010” then
X <= “10";

elslf (a(4 downto 0) = “11111” then
X <= “01";

else

X <= “00”;

end if;

end process;

end cond_arch;
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library ieee;
use ieee.std logic 1l64.all;
entity adder 4 2 is
port (
a,b: in std logic vector (3 downto O0);
x: out std_logic_vector(4 downto 0)
)i
end adder 4 2;
architecture testl of adder 4 2 is
signal s: std logic vector (3 downto 0);
begin
x(0) <= a(0) xor b(0);
s(0) <= a(0) and b(0);
x(1l) <= (a(l) xor b(l)) xor s(0);
s(l) <= ((a(l) xor b(l)) and s(0)) or (a(l) and b(1l);
x(2) <=
s(2) <
x(3) <
x(4) <=

end testl;




